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1. Qﬁimﬁlﬁ%ﬁ@ : 1x5=5

Select the correct answer :

. (@ 1 X ~ N(8, 64), (3@ TR 2N} to1F 23
If X ~ N(8, 64), then the standard normal

variate will be
. X-64
) Z=—3 i z-X-8
64
_X-8 . _
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(2)

®) ®  Pay=0.5, p;
P(A+B)=0.8, C@"ﬁﬁrﬁ’;}B)=o.3 e
¥  PA)=0-5 pm-0.3 and

P(A+B)=08, then

i) AWBW%E’W

A and B
events are mutually exclusive

) A% B =R wrfags

Aand B
are
€vents Mutually non-exclusive

Aand B i
| are independent events
) e g Iy |
None of the aboye
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(3)

(@ W X 45 IR T, OF B (™) T
If X is a random variable, then E(e%)
is known as
(i) afeF erem
mathematical expectation
(ii) YIFETE T
moment-generating function
(iti) FIRETEAE T
probability—generatipg function
(iy) S CATCHI o

All of the above

qﬁxaﬁmﬁwwwmwi,m

EX-X? ¥4
If X is a random variable with its
mean X, then the expression E (X - X)?

(e)

represents

(i) &Rg
variance

(i) 78 ¥ e
second central moment

(i) (i) T (ii) TAOR
Both (i) and (i)

(iv) 7 e T
None of the above

(mm"ovér )



2. oo i o S

‘Answer the following questions -

(@)

(b)

()

(@)

(e)

3. (a)

P16/42g

(4)

o 3% s ey .
Lo e — oot omb 2% (o

Stat, iti
e the conditions under which you get

the POisscn di .
X stributi .
form of binomia] disuigsﬁ:: a limiting

St:.te T .
chebychefps inequality

BT T ey s
Aerre e Y B oy e

2x5=-'10.>
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(5)

(b) @37 o oS Pre =IE T TR R 3.
a9 TS STelT URT TR T 49N IRl
e 7911 (o OE : 73 =0.0498)
The average number of printing mistakes
per page in a book is 3. Find the
probability that a page contains
more than 5 printing mistakes. (Given :
e~3 =0-0498)

4. (a) ﬁm@ﬁwmmﬁwmﬁm

ﬁmw-ﬁmwn%ﬁﬁ@mm@&
WWIA ’

State and prove addition theorem of
probability for any two events. Write
down this law for three events.

%41 /Or

et e 7o 1 TOEFSRA el 1o
oo e | 2SRl ‘ace’ XAl ‘spade’ (TWR
sgifel T 31

rawn at random from a full

(b)

A card is d

pack of cards. Find the probability that

it is either an ‘ace’ or a ‘spade’.

(c "
A 5 BS ¥93 I
If A and B are independent events, then

prove that Aand B are also independent:

qﬁAWBmﬂtmm,mmqwm

4¢

4+1=5



S. (a)

(b)

(c)

P16/42g
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T T S R g e i

Defi ili

De ﬁl?l: . Szazlzlzimtydl density function
. ve distributi ion

and explain its propertiesutlon function

BT /Or

Let X be a .
. rand()m . .
following Probability dlvsattriizt with the
on :
X . .
Px) L ! 2 3
e P32 104 g4
& (Flnd) : E(X-1)2

R g, o

2 th
isa Probability 31‘ the following function

ensi .
% function o not :

WQH /otherwise

= )?mﬁ‘ﬁ

( Continued’

» V(X). 6

(7)

6. T X WF Y 01 TF e (AW Sl T

T B
Two random variables X and Y have the
following joint probability density function :

_[2-x-4 0<x<,0<sy<1
fbs y)_— 0, w41 / otherwise

(a) X% Yammﬁ@wwﬁmam

Find the marginai probability density
function of X andY. -

(b) zmy=yaasm=txaexﬁmwww
@ X =xI I y3 afeem ssiikel T

o s 901
Find the conditional density function
of X, given Y=Y and also conditional

density function of Y, given X = x.
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